Resitve:

1. Na stevilskem poltraku upodobi dane ulomke:
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2. Decimalno stevilo 15,827491 zaokrozi na:
a) eno dicimalko. 45|87}494 ':/15’X
b) tisoline. 45, BZW@’) = 46,82;&
c) celote. /’5, XZ?#M — /16
d) stotine. 45,82?494 = /15’85
3. Pretvori:
23kg= 2300 dag 587 ¢= 5,,O§t' c
54000cm=__ 240  m 1°7=_ GF 1=60
5hi= 5000 di 2000cm?=__ 20 dm?
SOO min = 45 h K0 min
500:60 =12
200

2o/ort.



4. lIzracunaj:

2) 38,66+ 52.87 ) 68.86 — 18.83
b) 523.02 + 399,14 ) 129,43 - 65,3
c) 9,007 + 30,883 . f) 100,1 - 33,654
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